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e & forw am= Ao —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. el gdueE 19w U YA X AEB Ifarid: fore |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. I g3 B A 2 |

All the questions are compulasory.

3. P YT BT IR &l g IR JRAHT & ford |

Write the answer to each question in the given answer book only.

4. RS gl # aIR® @ve § 39 91 & IR Udh A1 & fordd |
For questions having more than one part the answers to those parts are to be written

together in continuity.
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SECTION-A

90 1 §gfdehedid 9e (Multiple Choice Question)
(i) M s & & & ©9 # fd ST 38—

(1) R @) w4
(%) Renre GIRINE
Who is known as the father of morden economics-
(A) Smith (B) Keynes
(C) Ricardo (D) Marshall
(i) AT 519 BT Ufdhol 28—
(1) o (@) <
(%) o () Ao

the return of human labor is-
(A) Rent (B) Interest
(C) Profit (D) Wages

(i) 71 & & T aERd Hifad G 8-

(31) My @) M,
(&) M3 (2) Mq
Which of the following is the aggregate monetary resource-
(A) My (B) M2
(C) M3 (D) Mq
(iv) FET T & oy a1 &t A6 iR el 2
(61) 9 (@)
(%) sma () =St

Demand for money the speculative motive depends on-
(A) Bank (B) Profit
(C) Income (D) Interest
(v) I AT STHIT U3 0.5 & 1 AT g9d UgRi 8Rf—
(@1) 0.25 @) 05
(a) 1 (g) 075
If marginal propensity consumption is 0.5 then marginal propensities saving will be trend-
(A) 0.25 (B) 0.5
O 1 (D) 0.75
(vi) e # fo=fra 9 @1 srafd 2—
@ 1 SR & 31 foawR @) 1 Selts & 30 A
() 1 3WeT A 31 A/ () 1 93 ¥ 30 WA
The period of financial years in India is-
(A) 1 January to 31 December (B) 1 July to 30 June

(C) 1 April to 31 march (D) 1 May to 30 April
(vii) ART H IRI—HAT PR B AN a1 TI—

(31) arve 2017 (@) @3 2017

(|) S 2017 (%) g 2017

When was goods and service tax implemented in India-



(A) April 2017 (B) May 2017
(C) June 2017 (D) July 2017
(viii) T & @ rOR @ @ 99 T8} o
(31) Il T rATd (@) axgail @1 Fafd

() 31 qarr 9 (|) =R YT
Which of the following is not an item of trade account-
(A) Import of goods (B) export of goods
(C)Aand B (D) Transfer Payment

(ix) Tt 3refeme & Sy fhar Sirar g—
(31) UM B HT (@) TP BH & FIeR
(|) axg @1 DHHEd @) J T
Micro economics is studied in-
(A) Taste of Consumer  (B) Behavior of a firm
(C) Price of Commodity (D) All these
(x) TR AT Bl g 9\ A ST SIam 8—

(31) T amTa (@) anfdfe arTa
(4) sfa orTd (®) AT AT
What is opportunity cost known as-
(A) Total Cost (B) Economic Cost
(C) average Cost (D) marginal Cost

(xi) S5 a7 # e & oy STRer R 2—
(31) SUHTEAT B 3 () =il B B
() o1 gT § (@) STH ¥ Pig =l
The factor responsible for the shift in budget line-
(A) Consumer Income  (B) Price of Good

(C)Aand B (D) None of these
(xii) AT B 8-
(31) Q=f (P) (@) P=f(Q)
@) Q=f(L) () L~f(Q
Demand function is-
(A) Q=f (P) (B) P=f(Q)
(C) Q=f(L) (D) L=(Q)
(xiii) f=fRad # § @ MR &7 g 8 8—
(31) STUBIA T AT (@) TPl AT TRTd
() o d Rer arTad () o uRacdt arTa
Which of the following is not a ‘U’ Shaped Curve-
(A) Short run average cost (B) Short run marginal cost
(C) Average fixed cost (D) Average variable cost

(xiv) SAEd & ) A gRad! 8l g
(o1) <refepretl H (d) Sreudbren |
(@) AfT reudmrad § (S) U I

All factor of production are variable-
(A) In the long run (B) In the short run
(C) In the very short run (D) all these
(xv) AT & RIfT # IR HFa BFfi—
(31) e dHET B aRIER () AT BT A 31D



() Hder dAd | A ) RerR =]
In case of excess demand, the market price will be-
(A) Equal to the equilibrium price
(B) More than the equilibrium price
(C) Less than the equilibrium price

(D) Will remain stable
2. Raw o= @t g iRy |
Fill in the blanks.
(i) DT B GRTE TRID oo g |
It is famous book by Keynes ................
(i) TR ASTARTT I B THE AG oo =
The main item of non-plan expenditure is ............
(iii) AT ST Ygfa qAT WA 99 UgRd BT AT BIT 2 |
It the sum of marginal propensity to consume and marginal propensity to saving is......
(iv) 9%g & TGl TG BT AT o HEATT B |
Exchange of goods in exchange for goods is called........................
1Y) Bl AT 9 forfdl & #eg deer T o0 2 |
.......................... Function shows the relationship between inputs and outputs.
(vi) IRa® AT ah & FF g W AT B A @ IRIER BT B |
The elasticity of demand at the midpoint of the liner demand curve is equal to.............
(vii) gof uforagt # avq @ @Ha @1 AR T fbar ST 2|
In perfect competition the price of commodity is determined by................
3. 3fd TYSTRIHAD

Very short answer
71 T & ITR 10—20 weal H SR |
Answer the following questions in 10-20 words.
(i) omfRfe Yo vy Pl 87
What is called economic agent?
(i) faa fata @ 82
What is net export?
(iii) SrfauaReT W B Th DT TAT fIRau |
Write any one central problem of the economy.
(iv) gt uforagt ® ©H &1 AT 9 Har g1 8?7 (T 9918v)
Who is the demand curve of a firm in perfect competition? (Make a Diagram)
(v) AP BRG] ST T &7
What is gross domestic product?
(vi) TR =1e &1 g3 oy |
Write the formula of revenue deficit.
(vii) fa<eh fafwa IR & <ot &9 81 8° forRau |
Who are the brokers of the foreign exchange market? Write
(viii) STOTR 3rfeuaReIl &7 s 3eTexyT forlRay?
Write an example of market economy.
(ix) Fofe Y@ w1 87
What is the budget line?
(x) ONPR gRT e BT fag wor & fohar orar 27
How is the deficit financed by the government?
(@vs—9)
Section-B




THSTRIAD T
Short Answer Questions
71 Ul & SR 30—40 FTsal # DRI
Answer the following question in 20-40 words.
4. THaer &1 aRIa Sy |
Define Investment.

5. AHRIHSD 3N fageryor qor amefe nfeie Avayo #§ =k I |

Difference between positive economic analysis and normative economic analysis.
6. SR AHA | MY a1 FASK 27
What do you understand by indifference map?

. Yol Ufugl IR @1 1 fIRramell d1 Soeig B |

Mention two characteristics of perfectly competitive market.
8. AIATRIP bl & UrAffd Hral bl AHSU |

Explain the primary functions of commercial banks.
. TUTH B UfhAT BT T § FHSISY |
Explain briefly the process of multiplier.

10. 3CUDBTT TAT STHDTA DI Hhou-T bl FHMSY |

Explain the concept of short run and long run.
11. 9NIR Aga 6y Hed 57 N@rers Al q918y |

What is market equilibrium? Also make a diagram.
12. afq (i). SUIAT Bl C =40 + 0.8Y

(ii). 99T et : 1=10
2 ql Fge M F1d By |
If (1) Consumption function C=40+0.8Y
(i1) Investment function I=10
Find the equilibrium income.

13. YTIR °Te] JAT ITIR AR BT FTHSU |

Explain trade deficit and trade surplus.
14. 3fGHA BT URHINT DY | FqqedT HR R fdqel A Ha % w1 ywrg gsdr 87

Define devaluation. What effect does devaluation have on foreign exchange rates?
15. | B HAT A DI T ST BT ool BT |

Mention two categories of price elasticity of demand.

(CES)
Section-C
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ClESHNEI RS
Long Answer Questions
=1 get & SR 60—80 gl H AN |
Answer the following question in 60-80 words.
16. f=feIRaa &1 e FHIfvTe—
(i) T Ud ydrg (i) SYHTeRTT U Td YoiliTd a¥qy
Explain the following.
(1) Stock and Flow  (ii) Consumer goods and Capita goods
IJAT(OR)
f=forRad sffarsl W HRG ANTT UR et ST A ST HIFTY |
(i) P BT UG = 1000 TS
(ii) faee & fad BR® 3 = 150 FRIS
(iii) et eTrcuer B = 200 TS




(iv) eI & =50 RIS

From the following data find national income at net factors cost.
(1) Gross Domestic Product = 1000Ccr.

(i1) Net Factors Income from Abroad = 150Ccr.

(ii1) Net Indirect Tax = 200Cer.

(iv) Depreciation= 50 Cr.

17. JTSRG YTl T YSIRTd UIiiqdi &l |H9eigy |
Explain revenue receipts and capital receipts.
31dI(OR)
°re # Hekdl & [99g 3 wEre Sifo |

Discuss the issue of deficit reduction.

18. 3T IWTE TAT AAT ST Bl F&T H FASTEY |
Briefly explain average product and marginal product.
3TTAI(OR)

e RO & i ScTe T AT SeaTE ®I 0T HIRTT |

Calculate average product and marginal product in the following table.

%9 DI gHhISAl H{A SUR | I IR GIGIESISTIC
Units of Labour Total Average Product Marginal Product
Product

0 0 - -

1 5 - -

2 15 - -

3 30 - -

4 40 - -

19. U g% DI HIFd 10% Td Yl 100 SHIGAT & | DI dehR 12 . B WR Yl TP 150
SHISAT 81 Wl & Al gt & dra s1d ity |
The Price of a commodity is Rs. 10 and the supply is 100 units. If the price increase to Rs.
12 and supply increase to 150 units, Calculate the price elasticity of supply.
S1YUII(OR)

TP BH B Yl 9 B FERSI BT qUE BIG | (P1g <)
Explain the factor determining the supply curve of a form (Any Two)

(@Ts—3)

Section-D

[NERCIRCACRE]

Essay type Questions

/1 9o & STR 100—150 TRl H R |
Answer the following question in 100-150 words.

20. YRT & Gy ¥ YR R9d §6 & draf &1 qoie9 S |

Describe the function of reserve Bank of India in the context of India.

31dI(OR)
9 faf T gomell @& <INT T Seoid BT | T $91 aIN1 &l 5 UhR T Rl 87
e T |

Mention the disadvantages of the barter system. How does currency remove these defects?




Discuss.
21. SUYIGTT & $SCdq I I 3T RIT JHST 82 dofc T dAT JFRHN I B Fergdl A

T BHITI—

What do you understand by optimal choice of consumer? Explain with the help of budget

line and indifference curve-
ITAI(OR)

HAT g6 H§ fRde aem |1 9% & feem | 7f7 &1 aHsnsy |

Explain the shift in demand curve and movement in the direction of demand curve.

22, UREd U M @7 NETRE & HeRidl | ARAT I |

Explain the low of variable proportions with the help of diagram.
31UdI(OR)
STl 3T ST T2l SledhTel AT SR H G Bl dies W I |

Explain graphically the relationship between long run average cost and long run marginal

cost.





